Answer the following questions:

61 \ ®  a) What is the defining equation for a lossy transmission line (TL) characteristic impedance. (1
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b) Give an expression for a lossy transmission line characteristic impedance in terms of the line
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capacitance, inductance, etc. (1 Pt = e

¢) Write the voltage wave equatlon for a lossy transmission line . (Make sure you define your
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d) Write the solution to the equation you found in part (c). (Make sure you define your
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¢) Define the voltage reflection coefﬁ01ent at the load, and explain what do we mean by a
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f) Figures below show a shielded two-mrc transmission line. On the figure to the right draw a

variables) (1 pt)

distributed parameter model for this two wire transmission line. (Make sure you indicated what

each element of your modal represents) (5 pts)
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